OBC KIri ' mocTa PenykTtop Penyktop
BA3-2101 BA3-2101 BA3-2101
Tmax = 87,3 Hw Tin = 87,3 Hm Tin =320 Hm Tin =320 Hm Tin =320 Hm
Pmax = 64 n.c. 114 = 3,67 My=43 M4=2,46 M4 =246
Tout = 320 Hm Tout = 1376 Hwm Tout = 787 Hm Tout = 787 Hm
OBC Huea KM Huea PK Huea ['T1 mocTa Penyktop
BA3-2130 BA3-2121 BA3-2121 BA3-2121
1,79 n, 6eHs in= - . .
Tma):l= 13H5 VIHHM Tin =135 Hm Tin =495 Hm Tin = 528 Hm Tin =
114 =3,67 1M4=2,135 _ _
Pmax = 81,8 n.c. 5M4Y=0,82 2M4=12 My=39 My =
Tout = 495 Hu Tout = 1057 Hu Tout = 2059 Hu Tout =
OBC KIri K
BA3-21083 BA3-21083 BA3-21083
Tmax = 106,4 Hm Tin= 106,4 Hwm Tin =387 Hv
Pmax =69 n.c. 114 = 3,636 Mny=49
Tout = 387 Hm Tout = 1896 Hm
[OBC Oka KM Oka T Krri Oka
BA3-11113 BA3-1111 BA3-1111
Tmax = 44,1 Hm Tin= 44,1 Hwm Tin =163 Hm
Pmax = 29 n.c. 1M4=37 My=41
Tout =163 Hm Tout = 668 Hm




OBC YA3 469 Kriri Krir (ams-410) I'T1 mocTa M mocTa
YM3-414 YA3-469 YA3-469 H.o. YA3-469 YA3-469
2,445 n, 6 in= in= , )
T DoV Tin = 172 Hu Tin = 216 Hu Tin = 1375 Hy Tin = 1375 Hu

Tmax =172 Hm B _

1MY=4121 1M4=378 _ -
Pmax =77 n.c. 4M4=1,0 4M4=10 M4=513 M4=538

Tout = 709 Hu Tout = 816 Hu Tout =7054 Hwm Tout =7398 Hu
OBC YA3 XaHTtep [OBC YAS XaHTtep Krin PK M mocTa
3M3-40905 3M3-51432.10 YA3 XaHTep YA3 XaHTep YA3-XaHTep
2,7 n, BeH3mH 2,3 1, pusent Tin = 270 Hw Tin = 1034 Hu o
Tmax = 209,7 Hw Tmax = 270 Hu =363 P Tin = 2006 Hr
Pmax = 128 n.c. Pmax = 113,5 n.c. 5|-|L|=0:79 2|-|l_|=1:0 MY =411

Tout = 1034 Hm

Tout = 2006 Hm

Tout = 8245 Hm

[BC 'A3-66
3M3-513

4,25 n, 6eH3nH
Tmax =290 Hm

Pmax =120 n.c.

KIiri
FA3-66

Tin =290 Hm

1M4=6,55
4M4=1,0

Tout = 1900 Hm

PK
MA3-66

Tin =1900 Hwm

114=1,982
2M4=1,0

Tout = 3766 Hm

['T1 mocTa
TA3-66

Tin = 3766 Hu
N4y =6,83
Tout = 25722 Hwm

[OBC N A3-34039
[0245.12C

4,75 n, gn3enb
Tmax = 353 Hm

Pmax = 108,8 n.c.

KIrri
FA3-34039

Tin =353 Hm

114 =6,555
5M4=1,0

Tout = 2314 Hm

PK
FA3-34039

Tin = 2314 Hwm

11M4=0,96
2M4=0,56

Tout = 2221 Hm

rr
FA3-34039

Tin = 2221 Hm
n4=1,9
Tout = 4220 Hm

BopTtoBomn
PenykTop
FrA3-71

Tin =4220 Hw
Mny=39
Tout = 16458 Hm

OBC N'A3-3302
Cummins ISF

2,78 n, ansenb
Tmax = 297 Hm

Pmax =120 n.c.

Krri
FA3-3302

Tin=297 Hm

114 =4,05
5M4=0,849

Tout = 1203 Hm

PK
MM3-3302

Tin = 1203 Hwm

1M4=1,87
2M4=1,07

Tout = 2250 Hm

['T1 mocTa
TA3-3302

Tin = 2250 Hw
Ny =5,125
Tout = 11531 Hm

OBC r'A3-2217
YM3-4216

2,89 n, 6eH3uH
Tmax = 220,5 Hm

Pmax = 106,8 n.c.

KIrri
FA3-2217

Tin =297 Hm

114 =4,05
5M4=0,849

Tout = 1203 Hm

PK
FA3-2217

Tin = 1203 Hwm

11M4=1,87
2M4=1,07

Tout = 2250 Hm

rr
FA3-2217

Tin = 2250 Hwm
M4=5,125
Tout = 11531 Hm

BopToBomn
Penyktop
FA3-71

Tin =4220 Hwm
M4=39
Tout = 16458 Hm

OBC UAZ Patriot
3M3-51432

2,23 n, gnsenb
Tmax = 270 Hm

Pmax =113 n.c.

K
UAZ Patriot

Tin =270 Hm

114 =3,65
5M4=0,82

Tout = 986 Hm

PK
UAZ Patriot

Tin =986 Hm

114 =2,542
2M4=10

Tout = 2506 Hm

['T1 mocTa
UAZ Patriot

Tin = 2506 Hwm
MY = 4,625
Tout = 11590 Hu
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